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- 1990FE 2002%E 20105 E
3 s | 28 | s | 28 | BHS 2NE BiEE 2NE
IR —ERif 822 7.3% 819 6.6% 73 6.1% 69 6.1%
(BUER) —0.4% -11.2% -16.1%
EXE 4761 42.4% 468| 37.5% 450  37.8% 435  38.6%
(EUER) —1.7% -5.5% —8.6%

FEL ] 217.2] 19.4% 2615 21.0% 259  21.8% 250  22.2%
(EUER) 20.4% 19.2% 15.1%
RE-REXR 129.1] 11.5% 166.3] 13.3% 155 13.0% 137 12.2%
(EUER) 28.8% 20.1% 6.1%
RE-EH% %R 143.9] 12.8% 196.7] 15.8% 178 15.0% 165 14.7%
(EUER) 36.7% 23.7% 14.7%
BEY 57 5.1% 242  1.9% 29 2.4% 24 2.1%
(BUER) -57.5% -49.1% -57.9%
ITEJO0+EX 16.9[ 1.5% 49  3.9% 45 3.8% 46 4.1%
(EUER) 189.9% 166.3% 172.2%

&5t 1,122.4 1,247.6 1,189 1,126
(BUER) 11.2% 5.9% 0.3%
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" s | 28 | s | 28 | BHS & BiEE 2NE
&5t 1,237 1,331 1,311 1,231
(BUER) 7.6% 6.0% -0.5%
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" s | 28 | s | 28 | BHS 2NE BiEE 2NE
IRILF—ERif 70 0.5% 26 0.2%
(BUER) -63.5%
EE 5,295 | 37.5% 4009 [ 29.5%
(BUER) -24.3%
JEL ] 3,458 | 24.5% 3,815 | 28.1%
(BUER) 10.3%
RE-RESR 2,690 [ 19.1% 2,733 [ 20.1%
(BUER) 1.6%
RE-EH % 2204 | 15.6% 2,590 | 19.1%
(BUER) 17.5%
BREY 373 2.6% 392 2.9%
(BUER) 5.2%
IT¥JO+EX 17 0.1% 13 0.1%
(BUER) -22 4%
&5t 14,107 13,578
(BUER) -3.8%
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- 1990F E 2002FE 20105 E
" s | 28 | BHE | 28 | BHS 2NE BiEE 2NE
&5t 14,770 14,259 14,853 13,293
(BUER) -3.5% 0.6% -10.0%




